THEXS T f& i Rl o Bl G 3 BAAT &=
i 5 i SHEET #ET F/EBRIET 2213 t=4cm m2 510
EN EH t=lcm m2 330
720 m2 180
X R T DX R T s, W=15cm m 3
WET AfiZEEIET T As t=15ecmEA T m 17
HIEsy T m3 0.01
AHLEAR R T As t=15cmPL T m2 510
ERIEE T Asi# m3 19
H 5y BT R g+ m3 30
HERET g+ m3 20
e A T g+ m3 10
SAET FE T FABRIEET A2/13 t=4cm m2 1,460
ApEFEIE T flieR t=lcm m2 1,460
X R T DX H R T M, W=30cm m 15
=T ALEEIE T As t=15cmPA T m 50
TBIEsy T m3 0.05
AREERR R T As t=15cmPL T m2 1,440
) B T RS m3 17
B T Asi% m3 58
Conij% m3 17
HEkAEEY T AV Ml (&) 300 m 86.7
T 300 i 12




LEKEREERS

% Fr psakis W B K OF K B & WAz
Al T
AR T A 13 1TX 21X
FET t=4cm A= 340.07 + 167.44 507.5 | m2
fill &AL 1T 2TIX
RFEHETE T t=lcm A= 222.30 + 107.64 329.9 | m2
1T 2T X
720 A= 117.91 + 59.80 1777 | m2
[N LT]
MEPAES
X iR T #fa, W=15cm 3.20 X 1 3.2 m
=L
As 1T 2TIX
AL T t=15cmPL L= 15.25 + 1.40 16.7 m
VBB T 0.01 m3
As 1T (4cm) 1 T.X(3em) 21X (4em) 2 T.X(3cm)
AR Bt T t=15cmEL T A= 222.30 + 117.91 + 107.64 + 59.80 507.7 | m2
1 LX(3cm) 21X (3cm)
ARERE T Asik v= ( 11791 + 59.80 ) x  0.03 = 5.3
1 TX(4cm) 2T X (4cm)
v= ( 22230 + 107.64 ) x  0.04 = 13.2
(3cm) (4cm)
V= 5.33  + 13.20 18.5 | m3




T RFRK[ER

% Fr psakis W X K OF K ¥ B war
JERE T
L= 147 + 144 + 144 + 144 + 144 + 144 = 86.7
ARE T WHE+ V= 86.7 X 0.40 347 | m3
HET WE+ V= 86.7 X 0.27 23.4 | m3
FRAER T WE+ V= 34.7 - 234 = 0.90 8.7 m3
BiEE T
M) EREE 1T 2T X bokiERsy 1L 2T X R
FET t=4cm A= ( 1298.23 + 702.63 ) - ( 340.07 + 167.44 ) - 37.62 | 1,455.7 m2
iipe AR 1T 2T X AkERS 1L 2T BRI R
ARk IE T t=lcm A= (1180.34 + 642.83 ) - (22230 + 107.64 ) ~— 37.62 1,455.6 | m2
X R T
IRASY—T TF~—7
X B T ., W=30cm ( 370 %~ 3 ) o+ (370 x 1 ) 14.8 m
WET
As %R 1TK 2T X kiR 1L 2TIX
AliZEEEr T t=15cmEL L= ( 52.65 + 13.80 ) - ( 15.25 + 1.40 ) 49.8 m
VBB T 0.05 m3
As EEEE 1TK 2T X bokiERS 1L 2TX BERR R
SRR IUE T t=15cmBL T A= (1180.34 + 642.83 ) - (222.30 + 107.64 ) - 52.02 1441.2 | m2
sy BUE T B Sy V= 0.19 X 86.7 16.5 | m3
ERTEE T Asi% V= 1441.2 X 0.04 57.6 | m3
Conifk 16.5 m3
HEKAE Y T
R
AT 300 L= 86.7 86.7 m
T 300 N= 12 12 e
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